Quiz 8.7 and 10.1

Calculus 2

The improper integral Ilm %dm
I

Select one:
2
d. converges to 3
b. diverges.
c. convergesto 2

d. convergesto
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€. converges to

The correct answer is: converges to

The improper integral fua ﬁdm

Select one:

ad. converges to —%

1

b. converges to 3

c. diverges.

d. convergesto0

The comrect answer is: diverges.
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The sequence a, = (b + %}"‘ :

Select one:

a. diverges.

. convergestolnb
c. convergesto(
d. convergesto b

-
e. converges to e”

The comect answer is: diverges.

1-(-1)"
The sequencs a, = {%} :

Select one:
a. convergestol
b. convergesto ()
c. convergesto —2
d. diverges.

e. convergesto 2

The correct answer is: converges to 0



